Cumulative Algebra Review- Chapter 12

Algebra 2H

All work is to be neatly shown on a separate piece of paper. Please write and box your answer, including the multiple choice answer letter. This is due the school day after the chapter test. It may be graded on both completeness and correctness.

1. Two coins are removed from a purse containing three nickels and eight dimes. What is the probability that both coins will be dimes?
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2. Which of the following is the complete solution set of the system:
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3. If the 20th term of an arithmetic sequence is 20 and the 50th term is 100, what is the first term of the sequence?

(A) -33.33

(B) -30.67

(C) 1.00

(D) 2.00

(E) 2.67
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(A) 0.23

(B) 1.61

(C) 7.76

(D) 148.41

(E) 13.59

5. If 
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(A) 1
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Diagram for Written Response Question
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Written Response Question

A complete response requires the following:

· Express your thinking in words

· Label any figures you draw

· Identify any formulas used

· Make clear the source of numbers used

Full credit will not be earned if your work cannot clearly be followed. The final answer is important, but meaningless if you cannot show somebody how to get it.

----------------------------------------------------------------

Manuel is an avid sports fan. His favorite teams are the Boston Celtics for basketball, the Oakland Raiders for football, and the Philadelphia Flyers for hockey. The table at left shows the records of the three teams in the 2000–2001 season. On one particular day, all three teams are scheduled to play. Round all probabilities to the nearest .001.
a. Based on their 2000–2001 records, find P(Celtics win), P(Raiders win), and P(Flyers win).
b. Complete the Venn diagram. Label each region with the corresponding probability. For example, label the region where all three circles overlap with the probability that all three teams will win. 

c. Find each probability. Show your calculations.
i. P(all 3 teams win)

ii. P(exactly 2 teams win)

iii. P(exactly 1 team wins)

iv. P(all 3 teams lose)

d. Manuel has his own “excitement rating system”: If all three teams win, his excitement level is +10; if two teams win, his excitement level is +6; if only one team wins, his excitement level is +1; and if none of the teams win, his excitement level is -20. What is Manuel’s expected excitement level on a day when all teams play? Show your calculation.
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